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401 AlEHIZ S 0HbI 74,500 74,500
01 AlZ2H| 74,500 74,500
O Ot NS SIS 50,000
O =204t 24,500
-0IM E=10tS DIEEEAE 5,000
-70| HEH0t=S UISYSAIE 19,500
CCVSE2MEEH =29 1,370,963 1,393,024 22,061
201 er2 3| 809,071 762,492 46,579
01 AtR2t2|HI 434,611 5,964 428,647
O SeZNdE 28?3 4+
70,0002 9 630
O SEZHHEH AFRID & 22357
270,000& *102] 2,700
O SS2NAIAY & HECTVHEAES Mt
N Bot H&=E 250,000 <0 2,250
O Sg2Nde S013EI| & E+D|
2= 125,700~ 128 1,509
O 0TV SEZMUASHAIAH SN2 420,000
O HiOlHA Al Tz A2t 0|83 Y 7,522
02 S3=4gl 374,460 756,528 A382,068
O IV &JIks 3,900,000& * 12& 46,800
O IV Seles 27,305,000~ 128 327,660
202 04| 1,764 1,764 0
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S THHE D
2 T et 2te] AlAE =5
Chel: otFate| olZet K EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 1,764 1,764 0
O SE2NE 30l
70,0002 +32 x12& %70/100 1,764
307 gl2to| & 520,128 520,128
05 212+ = 520,128 520,128
O SE2MHE CCTV 2H2H S
3,612,000« 12F 122 520,128
401 Al HIZL S 0HYI 20,000 20,000
01 Al&HI 20,000 20,000
SE2HAEH IV 2 RS WAl
(XS oIAIS I 20,000
405 AtatE = 20,000 80,000 260,000
01 ML ESF SHI 20,000 80,000 60,000
O CCIVSE2MHE [P2eldl, NP S 0K 20,000
PHE (ANHHSQIA, HEFAXIA) CCTV X XA 80,000 101,000 /21,000
&
S 23,200
[Ea 56,800
401 Al HIZL S 0HYI 80,000 101,000 A21,000
& 23,200
= 56,800
01 Al&H| 80,000 101,000 221,000
O 2025 B (SAS, TLAR)
OCTV EXIXIAAE (EX) 71,000
= 14,200
[Ea 56,800
O HEEr gr2del ZEAE(2XR) 9,000
== 9,000
Ot=2g OCTV & XIALY 1,043,000 323,000 720,000
=S 25,000
s 1,018,000
401 AIEHIZ SR THYI 1,043,000 283,000 760,000
< 25,000
[Ea 1,018,000
01 Al&H| 1,043,000 283,000 760,000
O OISYEE 0V FAZ=s SO e 50,000
O Or=¢d CCTV == Jtbilet wx 400,000
O =2 A 397,000
—-&dl statots g@E CCTv 16,000
-thell s&30tS 28 CCTv 15,000
-8 &720I0t= &Y TV 6,000
-5 2EZ0E &Y 0TV 5,000
-5 NE0t= 28 OCTv 6,000
-S& AS0t= &8 CCTv 6,000
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A RPN I= S
2 T et 2te] AlAE =5
Chel: otFate| olZet K EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 75,000
401 AIEHIX 20 150,000 300,000 150,000
= 75,000
s 75,000
01 AlZ8| 150,000 300,000 150,000
O d=2d FHAZZ2 USIUHAIE XA
ol (a2 150,000
= 75,000
s 75,000
SO & AP 2 2ke| 72,781 63,689 9,092
A OEM B 2te) 72,781 63,689 9,092
201 er2 3| 56,605 46,337 10,268
01 AtR2telHl 56,605 46,337 10,268
O SA3aHy| 5,845
O Hga3=dl 15,000
O HEES & 22283 7| 6,000
O 2elZ=A W=l 3,500
O Lot Hate| ?IEH| 23,260
O 2=ZH FolRI A 3,000
202 04| 1,176 2,352 A1,176
01 =LHOLI 1,176 2,352 AT1,176
O SUMHE =04
70,0003 x2H «12& x70/100 1,176
207 ARl 15,000 15,000
01 H1E4H] 15,000 15,000
O /48t |5l 15,000
YA (A D) 41,766 55,341 13,575
JI2&d| 41,766 55,341 A13,575
Jl=&H| 41,766 55,341 A13,575
201 2egh=3| 22,290 27,741 Ab,451
01 AtR2t2ltl 20,790 21,741 A951
O At22telt] 23,100,000 *90/100 20,790
02 s5=34l 1,500 6,000 4,500
O =234l 1,500
202 048l 15,876 22,680 26,804
01 2L AL 15,876 22,680 26,804
O =Udl 90,0002 x21& %122 +70/100 15,876
203 B2 =L 3,600 4,920 1,320
M EASHLRFAH 3,600 4,920 1,320
O Mtetd2d HRFA|
300,000& * 122 3,600
HPE s (et 1,083,868 1,075,446 8,422
LIS HHXIE 1,083,868 1,022,946 60,922
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SM: T D
M HRBS(HLOIFD)
&2l LHEHAHXIE (SH &)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
Metzedlg 8 1,083,868 1,022,946 60,922
R ISEES 1,083,868 1,022,946 60,922
01 JI3HES 1,083,868 1,022,946 60,922
O Mt2edlg d&3 1,083,868
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